SHEEESESONEBREFERESEAT RS
F76mYvh—HBHEXE BFHHAsEHLE

2 H SHM5E5H8278(1)-28H(H)-298(H)-30H (k) -6 H1H(XK)-2B(£)-3H(X) 7HM
= 5 A fEERRY v H—i15 B: #ET/NAITE L3R EIS C:HERTIYM—NEVI-A
D: ¥ ERTI9ME I V4B E:SHEHNE F.-AHHEKERELAER
G:ABEZEAIZYISIUR HEBBXALZSSIUR LIBFIAIZ SO R (ERXK)
JAZY—=NRECTLHE
#H E DHAEM700 OBMBARLAELMGE. ER20% . RLEVMSEEPK
Q@ XREIBNDHKYSELET
2 O& B M 10:00~ @12:30~ ®15:00~ [ INO#HB=FEIYFFo8—
— 27 > <28:29> — 30 D — 1 D> — 2 o — 3 S 2 5> — 1 >« 30 > —28:29—> — 27 —
BE 2B 1 6 6 20 §E [ =
— —_—
5 1 3 3
5 0
5EEB 22— o] | e — 21 & 5
° = 0o 1 ’ 1
0 0 2 3
BEWEE 3 ’ ™ S 2k T R
0 0 0 3 1 2
0 0 4 2
B8R 2 4 = 23 & B
0 0 lllﬁ' 0o 2
2 1 7 H 2 0 1
= J N
=I5 B £ 5 — K | — 248 W
3 4 3 x 0 2 1
5 0 0 $ 0 1 0
B W T % s N — = r 25 & [
1 4 0 =l 1 0 0
0 0 1 % 1 3 —
& w7 a 0 2= B Jb
0 0 1 *3-'5 4
ey 0o 0
% 8 0 2 3/ ) ) 0 97 E Iﬁ
0 o 5 @ — 0 o
1 0
1 3/ 1 3
S B s — 9 - 0o o0 . 28§ f T %
3 0 1 1
N B FE 10— SR : L uEBERsE
00%E 11 \0 1 1 2 2/
1
=3 F B o1 — 00800 1 o 4 ? —30 & I B
0 1 —
X . 0 0 1 1 0 2 s
I\ 12 —— 0 o 2 0 0 - 31 5
! 0 — [ — 2 B @
2 0 1 0
0 0 0
- W13 ) To 1 — N B & ¥
0 0 0
2 0
5 6 0 0
s B @ 4 4 2 BE M@ S =
11 0 0 0 0
A v B, 0 Sy 0 N NS B K S
B LB — ; . :
0 0
= 8 . - ® W =
16 11 35
= 2 0 ~— /0 0
0o 0 ’ 4 0 —_—
B @ I % 17 N = IF T ¥
0 0 , 3 3 0 4
T4 —— 6 0o 0 0
By E 18— i — I @ F R
5 3 0 0 0
1 wa HBEX — o
—/2 = 3 4 2
fie M 19— 3 EEH BE%E 0o o0 38 H =)
6
3fi k2] 3 2
3 KE 5 b———3T B B8 X




